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Note : This paper is of seventy (70) marks containing 

three (3) sections A, B, and C. Learners are 

required to attempt the questions contained in these 

sections according to the detailed instructions given 

therein. 

uksV % ;g iz’u i= lŸkj ¼70½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Explain in detail the TRIPS Agreement. 

fVªIl le>kSrs dks foLrkjiwoZd le>kb;sA 

2. Discuss the nature and types of biotechnological 

patents ? 

tSo izkS|kSfxdh isVsaV dh izd`fr vkSj izdkjksa dks le>kb;sA 

3. What is a patent infringement ? In a suit of 

infringement of patent, on whom the burden of proof 

lies ? Discuss. 

isaVsV vfrya?ku D;k gS \ vfrya?ku ds okn esa lcwr dk Hkkj 

fdl ij gksrk gS \ le>kb;sA 

4. Discuss the role of IPR in hazardous research. 

ckSf)d lEink vf/kdkj esa ladVe; vuqlU/kku dh Hkwfedk 

dks le>kb;sA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer six (06) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy N% ¼06½ iz’uksa ds mŸkj nsus 

gSaA  

1. Describe the nature of IPR. 

ckSf)d lEink vf/kdkj dh izd`fr dk o.kZu dhft,A 
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2. Describe the meaning and nature of unfair trade 

practices. 

vuqfpr O;kikj O;ogkj ds vFkZ vkSj izd`fr dh ppkZ dhft,A 

3. Discuss biotechnology laws in India. 

Hkkjr esa tSo izkS|ksfxdh fof/k dh ppkZ dhft,A 

4. What makes Sui-Generis system effective ? 

lqbZ tsusfjl iz.kkyh dks D;k izHkkoh cukrk gS \ 

5. What is the need of law reform in the area of IPR ? 

ckSf)d lEink vf/kdkj ds {ks= esa dkuwu esa lq/kkj dh D;k 

vko’;drk gS \ 

6. Discuss the major changes brought about by the 2005 

amendments in the Indian Patent Act, 1970 ? 

Hkkjrh; isaVsV vf/kfu;e] 1970 esa 2005 esa gq, la’kks/kuksa }kjk 

yk;s x, eq[; ifjorZuksa ij ppkZ dhft,A 

7. Discuss the role of IPR in the Pharmaceuticals. 

QkekZL;wfVdYl esa ckSf)d lEink vf/kdkj dh Hkwfedk dh 

ppkZ dhft,A 

8. Explain the provisions of appeal and penalty under 

Trade Mark Act, 1999. 

O;kikj fpUg vf/kfu;e] 1999 ds vUrxZr vihy rFkk ‘kkfLr 

ls lEcfU/kr izko/kkuksa dk o.kZu dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k, % 

1. For a patent to benefit from legal protection it must 

have Industrial application. (True/False) 

isVsaV dks dkuwuh laj{k.k ls ykHk izkIr djus ds fy, bldk 

vkS|ksfxd vuqiz;ksx vko’;d gSA  ¼lR;@vlR;½ 

2. A patent lasts for 25 years. (True/False) 

,d isVsaV 25 lky ds fy, jgrk gSA  ¼lR;@vlR;½ 

3. Trademarks are closely associated with reputation.  

     (True/False) 

VªsMekdZ izfr”Bk ds lkFk ?kfu”Brk ls tqM+k gSA ¼lR;@vlR;½ 

4. Discoveries are not patentable because it would hinder 

the pursuit of knowledge. (True/False) 

[kkstsa isVsaV ;ksX; ugha gS D;ksafd ;g Kku dh [kkst esa ck/kd 

gSA    ¼lR;@vlR;½ 

5. One of the most powerfull weapons against illegal 

copying of music from compact discs is new 

technology.  (True/False) 

dkEiSDV fMDl ls laxhr dh voS/k udy ds fo#) u;h 

rduhd lcls ‘kfDr’kkyh gfFk;kj gSA  ¼lR;@vlR;½ 
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Choose the correct alternative. 

lgh fodYi pqfu,A 

6. Which of the following is not patentable under the 

Patent Act, 1970 ? 

(a) New products 

(b) Manufacturing processes 

(c) Mathematical processes 

(d) All of the above 

fuEukafdr esa ls dkSu isVsaV vf/kfu;e]1970 ds vuqlkj isVsaV 

;ksX; ugha gS \ 

¼v½ u;s mRikn 

¼c½ fofuekZ.k izfØ;k,¡ 

¼l½ xf.krh; izfØ;k,¡ 

¼n½ mi;qZDr lHkh 

7. It is possible for a new product to be protected using : 

(a) Trade marks and copyright 

(b) Registered designs and patents 

(c) Copyright and patents 

(d) All of the above 

,d u;s mRikn ds fy, fuEu ds mi;ksx }kjk lajf{kr fd;k 

tk ldrk gS % 

¼v½ O;kikj fpUg vkSj dkihjkbV 

¼c½ iathd`r fMtkbu vkSj isVsaV 

¼l½ dkWih jkbV vkSj isVsaV 

¼n½ mi;qZDr lHkh 
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8. Which of the follwing is part of a patent ? 

(a) Patent summary 

(b) Patent abstract 

(c) Patent overview 

(d) All of the above 

fuEufyf[kr esa ls ,d isVsaV dk fgLlk gS % 

¼v½ isVsaV lkjka’k 

¼c½ isVsaV lkj 

¼l½ isVsaV flagkoyksdu 

¼n½ mi;qZDr lHkh 

9. Which of the following principles is applicable to 

trademarks ? 

(a) A trademark should not be deceptive 

(b) A trademark should not cause confusion with 

previous trademarks 

(c) A trademark should be distinctive 

(d) All of the above 

fufEufyf[kr fl)kUr VªsM ekdZ ij ykxw gksrk gS % 

¼v½ VªsM ekdZ Hkzked ugha gksuk pkfg, 

¼c½ VsªM ekdZ dks vU; VsªM ekdZ ds lkFk Hkze dh fLFkfr 

iSnk ugha djuh pkfg, 

¼l½ VsªM ekdZ fof’k”V gksuk pkfg, 

¼n½ mi;qZDr lHkh 
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10. The patent system has received fierce criticism in the 

past few years becauses it : 

(a) Hinders competition 

(b) Hinders innovation 

(c) Enables firms to generate abnormally high profits 

(d) All of the above 

isVsaV iz.kkyh dh fiNys dqN o”kks± esa Hk;adj vkykspuk gqbZ gS 

D;ksafd ;g % 

¼v½ izfr;ksfxrk dks ?kVkrk gS 

¼c½ uokpkj dks ?kVkrk gS 

¼l½ vlkekU; :i ls mPp ykHk mRiUu djus ds fy, 

dEifu;ksa dks l{ke djrk gS 

¼n½ mi;qZDr lHkh 
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